MODEL SET-1
Group-A History (gfasr) 3% (Marks): 20
f=ifed sgfamadia gedl § 9 w8 fdded I —

Choose the most appropriate options in the following multiple choice questions .

1. fage=™ ®e s gar ? 1
(i) 1887 (i) 1945
(iii)) 1873 (iv) 1950
When did Vietnam get independence ?
(i) 1887 (i1) 1945
(iii) 1873 (iv) 1950
2. WEICAT Tl Sf&T0T STih] | YIRd 6He d194 37y ? 1
(i) 1913 (i) 1919
(i) 1915 (iv) 1921
When did Hahatma Gandhi Return to India from South Africa ?
(i) 1913 (ii) 1919
(i) 1915 (iv) 1921
3. I gl B RATIAT o ROl 1
The Young Italy Was formed by ---------------—--—-
4. TN DUCHA BT AGD oo oy | 1

The Writer of Das Capital Was -------------mn---
=T Ul &1 SN 60 Weal H T |

Answer the following questions in 60 words .

5. Iegarg 1§ 2 3

What is nationalism ?

6. 3dCER Hifd W Yo G Are ford | 3
Write a brief note on October revolution.

7. Jolc ae & IR H AT T S 8 ? qUi a | 3

What do you mean by Rowlatt Act ? Describe.
=T Tedl &1 IR 120 g H T
Answer the following questions in 120 words.

8. 1929 30 & 3MAH Hhe & BNV &I IARAT BN | 7

Explain the Causes of economic cricis of 1929.
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a v =

S<IRHTCl fd8™ (HISTORY)

(@) 1945
(M) 1915
AR
HTel AT
rgare fedl faRiy Wimfere, digfae a1 arfsre akder § Yg=drel
@ 919 AT Y TG & Sl IRIWR YH, HISIRT AR YebdT Dl AU el
g1 1789 30 B BRI Hifd 7 Igae I g IERT| FUfe”T B
JMBHAT F STl AR SHAT | ISEATE Dl ATGAT Bl TR fhar |
FRAPT 7 7 FT=R, 1979 30 DI USRS B oId WCIM, STHER, TADMA
@, 9, HIE Td YD 9a W AR B o | ofF 9 & Age
H GIRIfdd B WHR ©F H WIUd g5 | G delvsy & AJAR Ig e
25 IFCER, 1917 30 Bl g3 o | SAMIU P! yeay Hifd & A9 & Sff
ST ST & |
IRA ¥ PSR ARG R SR o & foly <mer e Ade ol
Jegerdl | U B Bl TS fbar war | A 7 e fa9y <grirerd 1fed
TR BT @ A7 | 59 Siid bl N @ @ [ Ay & ARwaR
far S wdar g &R Sfea W far S d@dar 21 W gaed & ol @
faeg ardicr A1 &7 fbar S Hepr o |
1929 S0 1 3fds HEHS! I FAQI HRUT Bl Td a&gall o1 3ifd
Jcured ol | Yo fdvagg & qre @rem=l & qod H R HH Y | AT
TEMl § US—TS T 8 ol |

g fdvagg & aRM SEfiie IdRl § 9fg g3 | NG SRIOHRI
TEl W& | J§ D FEI T QY IO IMILIHAT DI aRY WI g o |
Y favg ToTR menRa Uofl eraver wawq &1 T8 |

3R fded Hoiarar <o &9 FIM AT | 1927 30 & dI& IMHNHI
FTTIRT Fhe F 3 TS | Beld: SHRBT 7 0T <1 98 < &1 | 399
R B Refe fars 78 | 39 UoR e Hal &I JHAd 83 |
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Group-B Geography (*iTie) 3% (Marks): 20

fifehd agfaebedia ueal § & |l fdbed g —

Choose the most appropriate options in the following multiple choice questions .

9. UH Godl AT Bhd afl o7 ? 1
(1) 1987 (11) 1992
(i) 2002 (iv) 2001
When was the first Earth Summit held ?
(1) 1987 (11) 1992
(1) 2002 (iv) 2001
10.f98R # a1e] A STefie 2T &1 &1 F8d € °? 1
(i)  drelr f@g (i) feIRT @7 A8
Giy @R (iv) oiexTse fAg
What is the name given to sand mixed alluvial soil fourd in Bihar ?
(1) Sandy soil (1) Diara soil
(111)  Bangar (iv) Laterite soil

11, 98T oreg | Red w1 o7 gfcd & -

Fill in the blanks with appropriate words :

(i) TTIT AR DT oo 1S9 H IART B | 1
Nepal is situated in the --------------—-—- direction of India.

(i) BTl ST BT TERT A o © 1
Black soil is also called ---------------- .

12. 7991 Ue= T IR 60 &l H G - 3

Answer the following questions in 60 words .
fIER Td BN uu= 5T 8 Far ?
Bihar is an agriculturally properous state. Why ?
13. 191 U9 &1 IR 60 Wl H « ¢ 3
Answer the following questions in 60 words .
JHred Y@ w1 g ?
What are wntour lines ?
14.f74 U9 &1 IR 60 TRl H © 3
Answer the following questions in 60 words .
VPR & sl A9 TN T Ioord o |
Give three advantages of roadways .
15. 91%1 U39 &I I 120 Tkl H § ¢ 7
Answer the following questions in 120 words .

YRT ¥ BTl B IaR0T BT qoiT BV |

Describe the distuibution of coal in India.
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34T
N % TR 9RA BT U AT A4 991y a2 F=faiRed & sraifad a
M sifda Iy |

Drow the outline map of India on full page and mark the following by shading :

(@) STelre ST &1 &=

(@) BICHNTYR TSR
(1) T T4
(8&) A IR MPER gode
(3) ORI 99 &A
(a) Area of alluvium soil
(b) Chhotanagpur plateau
(¢) Narmada river
(d) Andman and Nicobar islands
(e) Area of mangrove forest
AT
Bad AFsM BET & U ¢
Only for blind candidates :
IRA H HUN & IR IR TS Sled |

Describe cotton cultivation in India.

g s

SANHI AT (Answer)

. (b) 1992
(b) faaRT 37 g
.(1)#mawa%@ﬁ:wﬁmﬁ%%"l

fIER v o guH g 8 w@ife gqa dF—dens 4 oY &3 & siada
It 21 By & forg wEf &1 Ao 9eW ffd Suygad © | Sues: g,
IR Toarg qAT RHarE B AR gAd © | T8l kgl b AR Bl
9% 3R Bl Ol €1 §9 YR T8l IR TRE Bl ¥l d1g Sl g—9as,
T8N, &1 3R TRAT |

FE D ag B FHFIR GHM SHarsdrel I Bl Hedre @ e
N1 BEeTdl € | A= Sergal @ forg fafd=T e Y@ @i ol € S
U TR B B4l 21 dedl | Tdd FHled Y@ W a1y & e sifhd fby
SIT % |
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14, FSHAN & O o1 fFrfalad § —

() & &% TR & S b YK 2 |

(i) 32 UBTS! STal, o+ iR Foverdl @ &9 o W fdrel ST Adhar 2 |

(i) FeS®dl & @ H URTET & AT G, AN, argAN R TR |4l
JER B I SV |

15.1Rd # SRl & T &3 frefalad § —

(i) SREe— IR, GreRI, FIRSE, HUYRT 3R IFATS | T8l I & Bl DA
HeR &1 27 vfrera gRIEM g |

(i) BUNTe— RRARI, AR, fSrafiell, e, e H Als anfe | I8 <9
P DRI & I H UYIH ©IF W 2| J&I < BT 21 Ued e Ui
BT 2 |

(iii) 3NFETT— dTeToR Y@ IcUTeH & 2|

(iv) TERTSE— Tef, HIUST 3R dax |

(v) FegYee— RITRIEH, |IBRTYR, S9RAT 3R Siifgee |

(vi) Tfeam TMa— q&F & IENS & | SA%T &3 QI & |
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Group-C Political Science (RTSTiIfcr fa=sim)
3k (Marks): 17

rifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

16. b <91 H HUTHS ITA—TGRLAT F8] © 7 1
(®) ¥RT (@) 2T dPT
@ ameeferar (%) |YT I JHRBT
In which country Federal system does not exist ?
(a) India (b) Sri Lanka
(c) Ausralia (d) U.S.A.
17. T TS0 AR & fhae Wk © ? 1

(P) 2 (® 3 M 4 (= 5
How many levels are Panchayti Raj Institutions ?
(@ 2 (b)y 3 () 4 d 5
18. AR STl ARAMATHIU R U ofg fewofl forgd | 2

Mention a brief note on Woman empowerment.

=T gef &7 SR 60 Teal H ¢ ¢
Answer the following questions in 60 words .

19. XTSI o1 dlbad H I IeIH & ? 3
Why do we need political parties in democracy ?
20. TR SAlbaa ol faeryarail &1 qui o | 3

Describe the characteristics of Indian democracy.
T U9 &l IR 120 &l H S -
Answer the following questions in 120 words .

21.9Rd § g dUT IST] B HeY Heell TR YD1 ST | 7

Explain the relationship between centre and state in India.

SANHI AT (Answer)

16. (&) I il

17.(b) 3

18. AfET HIfGAHROT & 31ef & Sfiad & fafa= TR oI— IToHIfad, AmTTe,
anfelep ud utiRarRes Amal # Afgerail &1 Aera wrfar) gRfEd &R |

19. AHIfA® & diddd H 4 TBR ¥ MaTH & —
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(i) = H IOTIId® Gl b UHE AXAT & ®Y H B B © | 39 (o]
TRHR BT A0 Hefy Fva 8 2 |

(ii) Spaa § OIS Sl SIAG AT § Hgdr e €

(ii)fUel g1 & T H WHR BN ATAHT TR G o F |

20. MR dldhas Ngrd Ud @8R gl 8l WX O o= dl & Ui Saxar 2|
Ig fdvg &1 99 §9T dldhdd & | RAY WA a1 Bl Alfeld B R
UG &Rl & | F21 @ Fatas gomel) fAvgaig g | 98l draAdi, Al vd
ST WE & fedl @ j&m & fau §aq w fey o @ €
gJrruiferdT | T @ favar s 2 |

21, YR Aida™ § ey el & d8d dws dl Joigd Rfd H 3@ T3 2 |
gl AT B Uik AR ARTHR Bl A0 @ BT YA fHIT TAT T |
Afda™ # B, I UG \@HeRN Al B A JMUBRI BT WL IR W
fToT= fobam Tam ® d1fs <avra ¥ 997 O 9@ | 9Rd H Uh ofd T a6
Bg Ud oAl B A T B IRBR BRI BRI Yol | TH9 A9y FHERT 9411
RET| 1990 0 & 14 Vo-ifad URGeT H Ikl URad+ 3MAT| HIUH &
T BH G| s oAl H AT Tl BT IqWd T | TTSEE F WA
RISTHIT &7 ARy & 7 &9 a7 2 |

Group-D Economics (312f3¥)
Ah (Marks): 17

ifhd agfadmedra el § W Fel Aoy g |

Choose the most appropriate options in the following multiple choice questions .

22 ¥IRT @ 3N rawer ¥ 1
(@)  GHISIAIGT (@) Yofrardl
an  fafa (&) $7H A BIg e |
The Indian economy system is
(a) Socialistic (b) Capitalistic
() Mixed (d) None of these
23. Roid d& i sfOsar &1 WIUAT o9 gs ? 1

(b) 1932 (W) 1934 (1) 1936 (&) 1938
When did Reserve Bank of India establish ?

(a) 1932 (b) 1934 (c¢) 1936 (d) 1938
= Ue9 &1 SR 20 @ H T

Answer the following questions in 20 words .

24, RA § AYLH LRI AT BT TUET e AR fFId g1 & 78 o ? 2

First of all when & by whom the national income was calculated in Indea ?
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=T U9 &7 IR 60 Il H < |
Answer the following questions in 60 words .

25. FEAIT ASTAT BT IR BN | 3
Define microfinance system.
26. ASHIR UG HAT' Uh TR D RP & | DA 2 3

Employment and Services are complementary. How ?
T U T IR 120 Vel H |
Answer the following questions in 120 words .

27. 31 A &) 919 fd JeR P oIl & ? 7

How is done the measurement of ecomonic development ?

31y
g faferaq gomefl &1 HfSAEAT BT i BN |

Describe the difficulties of Barter system.

STANHI AT (Answer)

22. () fafa

23. (1) 1934

24 Rd H \AYAH 1T 3 Pl 0T 1868 0 W QIaT WIg ARMol o fdar
T | I7_IH 3UI IXdd “Poverty and Vn-British Rule in India” § 9 fdd arfi®
3T 20 ®YAT FATAT T |

25. GeAIT AT & §RT 14, BT AR [Fer 7 TR STwxads arll & @l
WEAl G & AH ¥ R ST BT Sl © | $99 B AN 0R &4
TST TR ARG J1TaT F0T bl GIAem Ua gl 2 |

26. 519 fdd 31U+ gRs™ Td Rel & MR TR Siaddiey @ fold a9 TahHa
FHAT § 3R Id 39 99 Bl Yol & ©U H FdeR (a1 Sar g 1Afq Sare-
@ &7 H 9w fHar Sar 8 a1 9an, ISR BT AR SaA1 81 9. | 3T
RISHTR 3R Hdl U G & R ¢ |

27.3ffe fAapra aavgd w9 | gRadd &1 ufthar 81 sHS HRUT SEhTA H
IS o Ud g afad amg # gfg g 2 |

i e @ 719 99 T 9aR 9 B Il 8 o~

(i) IS 3 (National Income)— XTI 3 I 3MMfYd fdbT BT Th UqE
AP AT ST €| fhdl <9 § U qy @l srafy H Searfed a1 avat ud
Hamell & HIfa® e & INT B I T HET T ¢ |

ORT <9 &7 I M T F AT &, I8 <9 [qBhd Hearal & 3R

fOTT T BT I 3T HH BT & I8 < AfAHRIT HEeAT & |
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(ii)l;l'f%f fad 3y (Per Capile Income)— el faerT & 719 Hx1 & forg uf
FfFT M B T AT Fad AHT AT © |
AT M BT <Y B Gl odE& F IR T W S AWTHe O
BT 8, 98 ufd «afad o wgerrdn 2 |
ufq @fdd g = I Ay

Bl STHAA

e

awq fafes yomel # ffaled wfeAgat &1 ameT & usar & —

(i) SMETLHAT & QIEY TN BT IJHTa— 9 YoTell H T fdd & Ir_T Ul Il
B TR 9T T Jga—dgall PR T offh aedd § I8 =T 81 2§ |
(i) Hea @& AU® BT IFHE— 9 [ATH Gomell | el o & Hed DI A
BT 81 STH TP U B oM T gER T Bl g Al ST Usdl ©
i fhel a¥g @ dqcl fhail A1 H Y O] ol SN, Y8 ATeH Bl

HiS Bl © |

(iii)a¥g BT IR ST HicH— 9 UUITell H X & 98l 9¥g UG Bl oIl &
T IR B U HIAT HiSd & 9T & | HB dwqy Ul 81l & Sl Sleg
g % B drefl 8l 8 |

(iv)9fasr | rae dA H HfSAS— 59 Yomell # Hfasy #H 9EraE FEl fhar o
FHdT 2| A B Uh S8 A gAY SE ST ArEdl § dl 98 Bdd 984
JMILIH TR Bl & o S Fhal © |

Group-E Disaster Management (3Mu<T Y9e)
3k (Marks): 06

rifdea agfdmedra uedl # 9 |8l fAded I+ |

Choose the most appropriate options in the following multiple choice questions .

28. 38 B &F TEAT ¥ 31 g9ifad grar g ? 1
() PR AR IRES (@) AMS; SR 3T Uew
@ FRES ) AIueE
Which region is more effected by landslides ?
(a) Kashmir and Uttarkhand (b) Odisha and Andhra Pradesh
(c) Jharkhand (d) Madhya Pradesh
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29. BIGT H 91 3 BT RIT BRI g 2 1

(@) 3D auf (@) fRurae & 9% &1 e
@M eI H AT AT IR L

What is/are the reason/reasons responsible for flood in Kosi river ?

(a) Heavy rainfall (b) Melting of glaciers in Himalayas
(c) Silt deposition in river bottom (d) All of these.

30. AT ¥ 37U T FASK & ? G I ga1d B oy Ul &1 9o | 4

What do you mean by Tsunami ? Describe the protective steps of Tsunami.

S<INHATAT (Answer)

28. () IR 3R IIRES

29. (9) g4 w1

30. AT T Urdpfcleh SMUYST & | I8 Ueh WU ¥ed & Ol &l ¥eal F 9 (Tso)
IR AR (nami) & 7 T G BT 4 € T"IE UG A BT 7 T AN |
T e’ B UE e A Bl @ e gRvM Wwu 9gg ¥ Ol
Igd g A 9 ¢ @ IR fawenfid gm § | gARl oEx |gsad 0
3MATel ™ UG SaTer ! favpie & BRY S~ 8l 2 |

(i) deadl &= # geRmor

(ii) SUTEl & IUINT A FAMT BT AT g7 DI FaAgT BT AT |

(iii)7THTH BT YHU AR FAFEREN HT ARG |
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